WORKSHEET 18

a) Find the matching pairs: -

5 x 7 + 5 x 3



3 x (4 + 2)

(2 + 6) x 3




2 x 3 + 5 x 3

(9 + 8) x 4




7 x (1 + 2)

b) Find all the possible pairs that give these answers.

_________x_________=16

_________x_________=20

_________x_________=-15

__________x________=-18

c) Fill in the missing numbers.

____________x (-8) = 16

10 x ____________= 20

(-6) + ___________= -15

(-9) - ___________ = -18

d) Fill in the missing numbers.

__________x (-3) = 24



(-6) + __________ = 20

81 ÷__________= -3



11 - _________ = -5

